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A 24/4 5 6 7 8 9 10 11 12 | 25/1 2 3 at R
| MR | 4515 | 437.5 | 431.5 | 362.5 | 299.5 | 436.5 | 492.5 | 452.5 | 255.5 | 348.5 | 429.5 | 361.0 | 4,758.5 397
2| M mo0 | 9341 | 9,936 | 8,319 | 7,810 | 5720 | 8,514 | 12610 | 12,00 | 5,286 | 6,681 | 1,02 | 8,320 | 105,673 | 8506
| | @D | 12,0 185 485 150.0| 53.0 | 52.5| 80| 1215|1365 85| 7.0| 17.0 633.0 53
Mmoo | 60| 30| 730 | Loss| 45| ss0| 260| 1,050 | soo| 10| 10| 215 6, 463 539
ARG S a7 42 44 30 33 35 58 38 24 34 40 36 461 38
A B0 | 3,985 | 3,011 | 3,190 | 2,325 | 3,100 | 2,045 | 3,715 | 5,980 | 300 | 1,605 | 2,640 | 2,650 | 35,39 | 2,904
I
AN A5 () 0 0 3 9 7 0 0 19 11 4 0 4 57 4.8
LIEIN 0 0| 120| 302| 260 0 0] 1,330 | 1,910 | 170 0] 300 4,392 366
#H 2GR | 2,403 | 2,163 | 2,314 | 2,269 | 1,957 | 2,067 | 2,167 | 2,170 | 1,942 | 2,250 | 1,713 | 2,089 | 25,512 | 2,126
5
o | OB () | 1,387 | 1,186 | 1,354 | 1,286 | 1,067 | 1,074 | 1,208 | 1,249 | 962 | 896 | 958 | 1,121 | 13,748 | 1,146
%
F M AG) | 1,016 | 977 | 960 | 983 | 890 | 993 | 959 | 921 | 980 | 1,363 | 755 | 968 | 11,764 980
IR,
0 0 0 0 0 0 0 0 0 0 0 0 0 0
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()
20 5, 650 117,889 578 39, 495 27,114 14,519 12,595 12
21 5,176.5 115,103 507 36, 767 28,127 13,831 14, 296 9
22 5, 342 111,892 542 40,294 27,629 15, 491 12,138 0
23 5,302.5 113, 005 547 40, 791 23,531 10, 481 13, 050 0
24 5,391.5 112,136 518 39, 788 25,512 13,748 11, 764 0
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